| dE/dx estimator 1 |

Ratio

[ dE/dx

estimator 2 |

C Entries 118 = - Entries 118
L Mean 3.131 C - Mean 2.877
C Std Dev 0.5772 0.35[ -5 meriveee e Std Dev 0.5519
03__ ------------------------------------------ R R | r R R |
C Entries 118 0 3: Entries 118
- Mean 3.131 RO | IR B A Mean 2.877
Q.25 i e Std Dev 0.5772 - : Std Dev 0.5519
r : : | - : : : |
C Entries 115 025__E """""""""""""" Entries 115
0.2t eyt Mean 3.123 C : Mean 2.868
N Std Dev 0.5819 0 2 R U U U ST I Std Dev 0.557
r P [ “E P [
0 15__ ..................................... Entries 116 C Entries 116
! B Mean 3.131 r Mean 2.875
- O.15 it it
- Std Dev 0.5153 r Std Dev 0.4802
T N R : : | - : : |
0'1- Entries 118 0 1__ ............................................ Entries 118
r Mean 3.081 T Mean 2.843
o Std Dev 0.6333 C Std Dev 0.6651
0'05—_"”. """ T A - A S ] O.05 -ttt AR Hrareeateeaces ]
E : : : Entries 115 C Entries 115
F : : : Mean 3.112 F : : : Mean 2.875
|||||||||H| IIIIIIIIIIIl,i\,I N ||||I,{.|—h|,|1 I IIIIIIIII IIIIII Id\.IIIrI\LI IIIIIIr\IAdrl
J__G " " 4 " " S0 DTV U001 o J__G " " 3 St DTV U050
: : 0 =
.............. = e (U 1
o
0.8 it p R b b 0.8
0.6 ---zmrrmnmafop e e 0.6 -
0 1 2 3 4 5 6 7 8 9 10 0O 1 2 3 4 5 6 7 8 9 10
dE/dx, harm2 dE/dx, trunc40
:lldl Yb&élldlveblul lUUUEVL
noc%%{ (.I)evt
&ps IRTEZ 1000evt 118
[ M TS L TO CTTaTTS
025 | Mean 9.161 Q.45 ----imremrerrdermm e Mean 0.9153
Std Dev 3.173 B Std Dev 1.005
; : L Ak i ]
- Entries 118 0.4% Entries 118
0.2} Mean 9.161 Mean 0.9153
: Std Dev 3.173 0.35p it Std Dev 1.005
: ] g : ]
: Entries 115 O.3F itk Entries 115
0.15¢f Mean 9.235 : Mean 0.9217
g Std Dev 3.177 0,255k i Std Dev 1.014
: ] - 5 ]
: Entries 116 Entries 116
0 1 Mean 9.164 02 e S S Mean 0.9138
L Std Dev 3.006 - Std Dev 1.047
' : : I e Sttt St S RS S ]
: Entries 118 X Entries 118
A Mean 9.017 | AR Mean 0.8305
0-05; - Std Dev 3.213 0. : Std Dev 0.9855
: : ] : : ]
Entries 115 0.05 """" """" """" """" Entries 115
Mean 9.2 ; : : : : 1 | Mean 0.9043
B e g L

.......................................................

.......................................................

0 10 20 30 40 50 60 70 80

dE/dx number of measurements

Ratio

.........................................

...........................................

.........................

.........................

0
dE/dx number of measurements with saturation

10 20 30 40 50 60 70 80



	Contents
	Page 1


